FITTING INSTRUCTIONS TAE

PART NUMBER: T4D518 TOWBARS

Nissan X Trail 4x4 - 10/01 — 09/07

Towing Capacity 2000 Kg / Ball Load 150 Kq
Lug # L4180

1) Remove plastic under tray.

2) Remove 6x screws 1x behind plastic wheel arch insert,1x on underside of
bumper and 3x around wheel arch, on both sides.

3) Remove 3x plastic clips from under side of bumper and 2x 10mm bolts from
top of bumper where the tail gate closes.

4) Remove bumper bar by peeling out from wheel arches.

5) Remove impact cones both sides.

6) Drop exhaust from top mount and charcoal canister out of its holder.

7) Fit bolts on wire to side holes in chassis rails and under side holes, offer tow
bar to vehicle lining up with bolts on wire, loosely fit spring washers and
nuts to all hardware.

8) Refit charcoal canister and exhaust to hanger.

9) Refit bumper bar.

RECOMMENDED ASSEMBLY
TORQUE LISTING

Diameter Grade 8.8 Bolt
Nm
M6 95
M8 21.7
M10 43.4
M12 77.3
M16 189.8

||||||||||

MIKKANQO PROUDLY MANUFACTURING TOWBARS IN AUSTRALIA



FITTING INSTRUCTIONS AE

PART NUMBER: T4D518 ® TOWBARS

4-M12x451.7T6P BOLY,

PLATE-22x68x40-13
& WIRE 30014 g

4 -M12 BAWASHER

4-M2x1.7% NUT

Z2-M12x351.76F BOLY
2 - W12 SAWASHER
2-M1Z2X1.TPNJIT

||||||||||

MIKKANQO PROUDLY MANUFACTURING TOWBARS IN AUSTRALIA



